Unit 8 Problems.

II

1.) If an object with a mass of 150 pounds was moving 50 mi/hr, what is it’s momentum?

2.) If an object had a momentum of 1500 Kg m/s, a mass of 85 pounds, what is the velocity?

3.) If an arrow is fired with an initial velocity of 10.1 m/s at an angle of 70 degrees, how long will it be in the air?

4.) For the arrow in #3, what is the distance traveled?

5.) If you shot an arrow with an initial velocity of 89 mi/hr at an angle of 15 degrees, what is the distance that it travels?

6.) If you changed the above problem’s angle to 45 degrees, what would the distance be?

